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Subtracting without Regrouping Name:
Solve each problem. Answers
1
1) 758 2) 5,838 3 64 4) 862
- 44 -3,914 -22 - 721 2
3
4,
5 2,312 6 58 7) 848 8 1,914 >
- 1,000 -42 - 625 - 2 6
7.
8.
9 35 10) 574 11) 9,428 12) 67 J
-1 - 430 - 102 - 50
— — — — 10.
11,
12,
13) 915 14) 3,816 15 83 16) 586 13.
- 602 - 2,402 - 32 - 340
- - T I 14,
15.
16,
17) 9,592 18) g2 19 423 20 6,296 .
-4,261 -50 - 12 - 2,025
18,
19,
20.
1-10195|90|85(80|75|70| 65|60 (55|50
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Subtracting without Regrouping Name: Answer Key
Solve each problem. Answers
_ 714
1) 758 2 5,838 ) 64 5 862 '
- 44 - 3,514 -22 -721 2. 2324
714 2,324 42 141
3 42
4 141
5 2,312 6 58 7 848 8 1,914 s 1312
- 1,000 - 42 - 625 -2 . 16
1,312 16 223 1,912
7 223
8. 1912
9 35 10) 574 11) 9,428 12) 67 9 34
-1 - 430 - 102 - 50 144
34 144 9,326 17 0
11, 9326
12, 17
13) 915 14) 3,816 15) 83 16) 586 13. 313
- 602 - 2,402 - 32 - 340
313 1,414 51 246 e 1414
15, ol
16. 246
17) 9,592 18) 82 19) 423 20) 6,296 - 5331
-4,261 -50 - 12 - 2,025
5,331 32 411 4,271 18. 32
10. 411
20. 4271
1-10 [95]90|85(80| 75| 70| 65| 60|55 |50
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Subtracting without Regrouping Name:
Solve each problem. Answers
34 141 2324 714
223 17 9326 144 1.
16 1312 42 1912
2.
1) 758 2 5,838 3 64 4) 862 3.
- 44 - 3,514 - 22 - 721
— I — — 4,
5.
6.
7.
8.
5 2,312 6) 58 7) 848 8 1,914 0,
- 1,000 -42 - 625 - 2
10.
11.
12.
9 35 100 574 11) 9,428 12) 67
-1 - 430 - 102 - 50
M odified 1-10 | 9283 75|67 [58[50] 4233|2517 |
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